
INSTRUCTION MANUAL

WWW.NEOMOUNTS.COM

PLASMA-M2000ED
EN 

NL 

DE 

FR 

IT 

ES 

PT 

DK 

NO 

SE 

FI 

PL 

CS 

SK 

RO 

Floor stand 

Vloersteun  

Bodenständer  

Support au sol  

Supporto da pavimento 

Soporte de suelo  

Suporte de chão  

Gulvstander  

Gulv stativ  

Golvstativ  

Lattiateline  

Stojak podłogowy  

Podlahový stojan  

Podlahový stojan  

Stativ pentru podea



Install the casters - SCREW TIGHTLY 
Installeer de wielen - SCHROEF STEVIG VAST 
Installieren Sie die Rollen - FEST ANZIEHEN 
Installez les roulettes - VISSEZ FERMEMENT 
Installa le rotelle - VITARE STRETTAMENTE
Instalar las ruedas - ATORNILLAR FIJAMENTE 
Instale as rodas - APARAFUSAR FIRMEMENTE 
Zainstaluj kółka - DOKRĘĆ ŚRUBĘ DOKŁADNIE 

Attach the stands to the chassis 
Verbind de staanders met het onderstel 
Befestigen Sie die Ständer am Chassis 
Fixez les supports au châssis  
Attaccare i supporti al telaio
Acople los soportes al chasis 
Anexar os suportes ao chassi 
Przymocuj stojaki do podwozia 

Assemble the plateau
Monteer het plateau
Montage der Platte
Montez le plateau  
Assemblare l’altopiano
Instale la meseta
Instale o platô
Zainstaluj półkę pod kamerę

EN
NL
DE
FR
IT
ES
PT
PL

PARTS

EN
NL
DE
FR
IT
ES
PT
PL

EN
NL
DE
FR
IT
ES
PT
PL

PLASMA-M2000ED

Tool

STEP 1

STEP 2

STEP 3

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

0-50 kg |
0-110,2 lbs (2x)

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

200x200 -
800x600 mm

B2

B1

I

J

C

O

P

Q

R

S

T

U

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

120-180 cm

A. (x1)

U. (x1)

B1. (x2) B2. (x2) C. (x1)

D. (x1)

E. (x1) R

F. (x1) L

upward

G. (x4) 

H. (x4) I. M8x14(x10) 

J. M8(x10) K. (x1) 

L. 
M4x16 (16x)
M4x25 (16x)
M5x16 (16x)
M5x25 (16x)

 
M6x20 (12x)
M6x40 (12x)
M6x55 (12x)

 
M8x20 (12x)
M8x40 (12x)
M8x55 (12x)

M. Washers 
 M5 (x16)

 
 1/4” (x12)

N. Spacers 
 M8 (x24)

O. (x2)

P. 3/8”(x2) Q. 3/8”(x2) R. 3/8”(x1)
1/4” (x2)

S. M10(x1) T. (x1)



Install the adapter brackets 
Bevestig de adapter steunen 
Montage die Halterungsschienen 
Installation des supports d’adaptateur  
Il montaggio del adattatore 
Coloque los soportes del adaptador 
Instalação de braços adaptadores 
Zainstaluj ramiona uchwytu 

Attach the screen onto the bracket 
Het scherm aan de steun hangen 
Befestigen Sie den Bildschirm an die Halterung 
Fixation des barres verticales sur l’écran  
Fissaggio della staffa sullo schermo
Fijar el soporte en la pantalla 
Fixar o soporte no ecrã 
Zamontuj monitor do uchwytu 

EN
NL
DE
FR
IT
ES
PT
PL

EN
NL
DE
FR
IT
ES
PT
PL

STEP 5

STEP 6

Install the VESA plate 
Installeer de VESA plaat 
VESA Platte montieren 
Installation de la plaque VESA  
Installare la piasta VESA
Instalar la placa VESA 
Instalar a placa VESA 
Instalowanie płytki VESA 

EN
NL
DE
FR
IT
ES
PT
PL

STEP 4

K

I

J

E

N

L

M
ax

: 6
20

 m
m

Max: 900 mm

M



Adjust the mount to your desired position 
Stel de steun in op de gewenste positie 
Positionieren die Halterung in der gewünschten Position
Ajustez le support à la position souhaitée  
Regolare il supporto nella posizione desiderata 
Ajuste el soporte a la posición deseada 
PT  Ajuste o suporte na posição desejada 
PL  Dostosuj pozycję uchwytu do 

EN
NL
DE
FR

IT
ES
PT
PL

EN
NL
DE
FR
IT
ES
PT
PL

STEP 8

STEP 9
Secure the bracket 
Verzeker de steun 
Befestigen Sie die Halterung 
Fixation de l’ensemble sur la plaque murale  
Fissare la staffa 
Fijar el soporte 
Fixar o suporte 
Zabezpieczenie uchwytu 

EN
NL
DE
FR
IT
ES
PT
PL

STEP 7

H

Run cable through the cable cover 
Leid de kabel(s) door de kabelgoot 
Kabel durch die Kabelabdeckung führen 
Positionnez vos câbles dans les goulettes prévues à cet  
effet et reclipsez les caches câbles  
Far passare il cavo attraverso la copertura del cavo 
Pase el (los) cable (s) a través de la bandeja para cables
Passe o cabo pela tampa do cabo 
Przeprowadź kabel przez osłonę kabla 




